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GENERAL MENTAL ABILITY TEST
mmas WPRT TR TOcs
@ D Y

(Question : 1) (géez : 1)

1. Direction : Inthe given equation which 1. BRBY @ IRYTIT FNCTTRTY
set of signs among the alternative o BB, B NY BoFeINIT, FoemeN
replace the symbols o and B TOIEORNTYTE O3PS WBXNY
respectively to make it meaningful ? Mees, wWWTIMATIN W

CleacslolalgovnlavicIn iy

930063 +21-23343=110

1) +and - 1) + 3 -
2) xand- 2) x ) -
3) xand + 3) x I3 +
4) —and + 4) — D +
(Question : 2) (33, :2)
2. Direction : Which one of the following 2. TRWS 1 S8 F9NT O3B FA0EETR)
equations is NOT meaningful by RS3E BRAY Mes, 9T
e} 2 %
substituting the set of mathematical SN (+ X, =, +) STeHITON
signs (+, X, =, + ) sequentially in them? OB TROETTOD?

1) 10*14*5*160*2
2) 14*16*3*180"3
3) 12*15%4*144*2

4) 16*18*2*156* 3



(Questions : 3—4)

Directions: Compare column — | and
column — Il toanswer the given questions.

column-I
Hoy — |
i)120
ii) 150
ili) 180

iv) 200

3. Which one of the given rules in
column- Il the number 200 follows ?

3. %os3 200 Zow -l BQ BeLicem
RBRT JOBTHRT, YHEOBHIB ?
1) 2n?+2n
2) 3n°+3

3) 10n®+10n

4) n>+3n

O N A0
(ZBie: 3 - 4)

BRuINL: Tog — | =& ZFox - |
QNI BRedA FRWDT TF AN

emg@,%.

column -1l
Hoys — I
a) 10n2+10n
b) 3n3+3
€) 2n2+2n
d) n®+3n
e) n?+n?/2

f) 4n®+4n

4. Which number in column -1 follows

the rule (4n3 + 4n) ?
4. 3oz — | YT S35 503380330 QOB
(4n® + 4n) =, DTOWIZ ?
1) 120
2) 150
3) 180

4) 200



RN R0 T 0
(Questions : 5-6) (FBnL :5-6)

Directions: Find the correct waterimages =zp8nes: §,0t3305 T RIZNRYR OIS
for the following problem figures from the ROTIVONTI), (ACOTYT TEWow)

given alternatives. RLTOT TOITF OPRPOT FOREBLO.
5. )
G OG
TN
-
)
@
T/ VD
| |
2) 3) 4)

Zé%&
|
1)
S
T



(Question : 7) (|3,

:7)

7. A cube of side 4 cm is painted with 7. 4 cm VZT womd FIF Jed WY
blue colour. It is cut into smaller WPOT. VTR, 1 cM LTS 23 FIRFN

TZORTW. &N, TIF WwOWS [

cubes of 1 cm. Then, how many
ws;%&waw mgs e,as& PIAPTLES ?

smaller cubes have paint on atleast

one face?
1) 56
2) 48
3) 36
4) 24
(Questions : 8 - 10) (FBnes :8-10)

Directions : Identify the number of specified BRWIRE : FIR BRLITOT WINTYY BRWS
geometric shapes in the given diagrams and 25940803 &83n¢ K030, FOLB

mark the correct answers. QZTII, TR
8. A figure of an object is given. 9. How many hexagons are in the given
Identify the number of Surfaces of figure ?
the object.
9. 3RS BFI0NY IR, wcs%zsﬁ@d ?
8. .00 TRWAT WBTIW, RN, B2
SR AT dsc@wﬁ@ zo&%oﬁaoez
TSR,




10. How many parallelogram are there
in the given figure?

10. 30YDT ©BIHY ITy, TRPIROIT
BBPrEOS ?

(Questions : 11-13)

Directions : In the given questions there
are four groups of numbers / pairs of
numbers / group of letters of which three
are alike and one is different. Find the one

which is different ?

(F3pse 1 11-13)
TRWBINE? & TYNT I NG

TEO3ROTTYoI® FOLNTd / Hweed
ﬁo&jémfa / @gpmf TPONRTNY SDIOM
MOOTONTI, RN, YRNTY =RT 2.0

030D FOWOPVZ, TROVIITH. 2O
B, YT ONT. YIONTVYTI), TSR

11.1) 539 12. 1) 96, 56, 12 13.1) ASDWF Z
2) 679 2) 154, 63, 14 22 EOI RLYV
3) 749 3) 208, 91, 16 3) MYJQ@BN
4) 8 29 4) 252, 98, 18 4) KTCXGP



(Questions : 14 -17)

Directions : Complete the following number/
figural series by choosing the correct answer
from the given alternatives.

14. 98, 75, 54, ?, 18, 3
1) 45
2

w

00 08

SN

)
)
)

16.

17.

(ZBnd :14-17)
DRWBIN %Jaééjdod TWOIPEOIRNYOT

ROOIRT YOFTID, SOA, TYNT RO, /
WINY JedNT, TRF IR,

15. 0, 1, 4, 15, 64, ?



) ORI
(Question : 18) @% . 18)

18. Pramod and Praveen are the sons 18. TRdeeT 533_39 TRCEOTH TFOBR wsﬁa.

f Prakash.
orrrakas _ TETS NS TOHTy TRES TCBLT
The present age of Prakash is 4 ~ ~
times the age of Pramod and 6 times 4 BT B TReeaw TICHIT 6 TAT.

the age of Praveen.

If the sum of their ages is equal to TN T TR 51

51 years, the present ages of RRENTRTT, TRRT DI JReess
aPrr:r:nod and Praveen respectively NF bR FHTN
1) 9years, 6 years 1) 9 JIRFN, 6 JIRFNW
2) 6 years, 9 years 2) 6 [IREN, 9 [RENLYD
3) 9years, 4 years 3) 9 IRENND, 4 IRFNYD
4) 12 years, 6 years 4) 12 IRERD, 6 IREAD

(Questions : 19 - 23) (ZZRsh 1 19-23)

)

Directions : Complete the given number/ =zgi3ns @ 2080383 DO3TDEOPRLOT
e

letter / figure analogy by choosing the correct 5503393 YOITHD), SO, BRLITHT B0/
- e

answer from the given alternatives. @83 / B¥INY TOWINTR, TRF TR,
Y =
19. 18:289:272::?:169:? 20. 66:400::166: ?
1) 19,342 2)17,306 1) 800 2) 1000
3) 14,210 4)14,156 3) 1200 4) 1400

21. SAMOHT:SINNZT::RELHEM: ?
)LFGMDS 2) LFIMDS
3) SFMIFN 4) RDKGDL



22.
DALY 5'5 K
: ’ & o L ® :?
(‘Wﬂ q v.A

23. :Q:: - 7

1) 2) 3) 4)

(Question: 24) (|3, : 24)
Direction : Find the wrong number inthe =p3s: é@@édad gg)eg@o@@ 3500 -,-\,’o@jesoj)gjgol
given series. 20T B0, W

24. 200, 300, 500, 900, 1800, 3300



(Question : 25)

25. Direction : Take the given statements
as true and decide which of the
conclusions logically follow from the
statements.

Statements :

a. Some cows are horses.

b. Some camels are goats.

c. All goats are horses.

Conclusions:

| . Some cows are not horses.

Il. Some horses are not goats.

[ll. Some camels are horses.

IV. All horses are camels.

1) Conclusions I, Il and Il only follow
2) Conclusions Il, Il and IV only follow
3) Conclusions | and Il only follow

4) Conclusions lll and IV only follow

11

N VRN A
(|3, : 25)

25. RN 1 YN BRLITVE IHEVIN O
NOTY POWA, OITVT JPFOIR)
SodF IwoN é@dé@d@@id ROV
QEOA.

TePENLL:

a. TOF TAONTD DTRTINLD.
b. 3% Lowned ednd.
C. DTY NEENW BTN,
QEITCINED :

l. 30 TRNRLD BTINTY.

ll. 305y BDRONW DeINTQ.
. 3% 2.083Ned DWTIND.

V. oo BTNONSLR 203N,

1) deme Jeorodnsd |, 1, 1l 23508
ODRORITT

2) dexm® Qeasodngd I, L IV =g
ORRORITT

3) eaFrodnEd | 2 1l &g
ORDRORTE

4) JearodNEd e IV [0,

RO



(Questions : 26 —27)

A high school in Belagavi
800 students.

The numbers of students who are
studying different languages in the school
are represented by intersecting circles.
Find the answers to the given questions
by studying the figure.

has

Hindi - 130
oo - 130

English - 180

<\ =

(IFBRsh 1 26 - 27)

BIMAOL L0 FeETeSoHY

800 am@?ﬁ@w@p.

3 PRADY AT ma’&ﬁ@ﬁ:& @z%oﬁa RIOTH=
énmsé;ﬁ?mé 5033671%9534 R {JAY S sggm;
SNROT ATRJISINTS.

33 wgﬁﬁ:& @@60335 SRR BRI ag%ﬁ@ﬁ
emgswm& FOTWIROWD.

Marathi - 150
20000 — 150
Sanskrit - 90

3 A0RE - 90

Kannada - 250
38@ - 250

26. How many students are studying
only two languages Kannada and
Sanskrit ?

1) 10 2) 20

27. How many students are studying
only three languages Kannada,
English and Hindi ?

1) 30 2) 40

3) 30

3) 50

26. O RPN T D) 50"’%@3 33
PRANTRY, TR, WGHOLT TR ITT ?

4) 40

27. aaﬁ% &nm@?ﬁ% %54@, BONCT® =Y
%00 B WRT> PIRNTTY, [TRE,
VZOLT [RWSWT ?

4) 60



N OO R A
(Question : 28) (|3, : 28)

28. When (PQRS) is multiplied by S,the 28 (PQRS) &, S R0 mrdann WSS

productis (3SQ9Q) rb:aeagp;‘g (35 Q9Q) vz
If the value of Q is 6, the values of Q 3 WS 6 wwen, P <3y R n¢
P and R respectively are : BSnsd FEoewen !
1) 7and 3 1) 7 33 3
2) 2and5 2) 225
3) 9and 8 3) 9@33’8
4) 8and 7 4) 8 R 7
(Question : 29) (|3, : 29)
29. T, AppPLE 29. APPLE
+ BALL + BALL
+ APE + APE
47958 47958  woon
The Code for PEBBLE is : PEBBLE 3 =odc3s) :
1234413
2)136623
3) 31226 1
4123362

13



(Questions : 30-31)

N VRN A
(FBned 1 30— 31)

Directions : Find the missing part of the BeEIn: : TRTOT BFENTY ),
given figure from the alternatives.

31.

) N

(Question : 32)

JRCNTOR PONTJIY, TOITPEFONNYOT
FOTEBCD.

B N \%

2) 3) 4)

2) 3) 4)
(B, : 32)

32. What are the least number ofducks 37 z; 2op3 ébmsﬁdeﬁ 30T O 50332303’
(ae] [S]

)

that could swim in the following ToDRGy Besen mﬁs 2

formation? a. 2,00 TORT TLOATY ST

a. Two ducks infront of a duck TORNL

b. Two ducks behind a duck b. .00 FToIT WOERNTY ST
TOIND

c. A duck between two ducks.

C. AT TOINY TR WOTL TOX.



008 O
(Questions : 33 — 34) @%ﬁ@; : 33-34)

33. Using the given Matrix findthevalue 33 2-¢305=3 w&ﬂ@oﬁaﬁoq T O3RCAL
. b6 0l

°f(<>+<>+|:|)' (<>+Q+|:|) g @Iy,
FOT L ROWD.

ALTO O |12 1) 18
2) 19

A 20 3) 20
4) 21

O A |16

9 23 16

34. Inthe given Matrix find the missing 34. %:aéédos m%@oﬁg RIS SRCNTHT

section. PONTRY, FOTLROWD.

1) 21| 23
18 21 19 22 20
20 24 2) 19| 22
24

19 22 23
3) 22| 20

21 24 22 25
19
4) 23| 21
20

15




(Questions : 35— 36)

35. The three pairs of opposite faces of
a cube are given as follows :

36.

(ZBned : 35— 36)

35. WO FIW é)d:cgp TNINE  ToRTL
B3N T IVTOWOS V.

Al |D
Bl |E
C| |F
Identify the correct figure from the 8 PITT, WRATIN FRYTOT
given alternatives, when the cube is TOIRFOIINTY  OINRT UITR)
unfolded. BOBROZHITOW 1T
A|D C[D C|E A|C
B|IE A|B AlF E(D
C|F E[F B(D BlF
1) 2) 3) 4)

When the problem figure is folded
into a cube, which of the following
cubes will be formed ?

AW IND|—

1)
2) B and D only
3) A only
4) D only

A and C only

16

36. 3RLITON gmaasgsmq a:s’msééomr\
WORATIN FYNT 03N FTINY

wd:§£ ?



(Question : 37)

37. Which one of the following relations

are represented by the above Venn
Diagram?

1) Doctors, Engineers, Professors,
Businessman

2) Professors, Engineers, Doctors,
Industrialists

3) Lawyers, Doctors, Engineers,
Professors

4) Doctors, Surgeons, Professors,
Engineers

(Questions : 38— 39)

In a school 90 students play different kinds
of games.

Among them,

a.

15 play Cricket, Hockey and
Football

15 play Cricket and Football only
10 play Hockey and Football only
Totally 30 play only two kinds of games

Equal number of students play only one
of the games.

17

37. Hed BRYBHR P UIR) Bt FUNS

C330T BOWOPNERY, BRWIIE ?

1) F,TTD, QoLICDILND, TR,
mséaiméedémﬁ%

2) TRVIIBDR, QOBICDTIN, BT,

%émaé\raedémmﬁo

3) JdeR, dédéda, QOBIAONTNLD,
TRIOIITI

4) BT, THWEITD, TOHRITR,
QORACDTOND

(ZBnsd : 38 - 39)

2,070 ZoB0HY 90 QTRHENED G ClefssI!
SRNTIY, SlelchleX

©=3Y,

a.

15 DTRHFNT 3387, Tod WY
TRLFLTVST ST

15 é)méébrmfo 3BT VB FOEF RS
BRE, SR

10 é)méé;srﬁ@o TOF B LIV
BRE, SR

283, 30 @m@?mﬁo QO ejésmfmol
BRE, SR

ST ﬁo&ﬁéoda ésméc;srmfo 2OTR
BRI, [PT, GBI,



38. Find the number of students who

play Hockey and Cricket only.

39. Find the number of students who

play Cricket.

(Question : 40)

40. A square shaped paper is folded as

38. Tos By HE® ebdcsa“s:eZ TR, BT
&35%@?71%‘3 sos%cﬁ:mol TOTB0ND.

39. 33 WBT &m%@?mf zoaﬁ’éoﬁa“noz

FOTR W ROWD.
1) 40
2) 45
3) 50
4) 55
(|3, : 40)

40. 2,00 PTTTT ToNWS m@oﬁﬁa&

shown and punched. The problem
figure shows the paper when
unfolded. Which among the
alternatives indicates the position of
the punch made when it was folded ?

WIRY BReOITLTOZ SRR TOFRY,
SRR, TFRITF) TR, WRITRN
SR REDWITI Qom 3ec0TTH.
BRLITHE JOSRFOPNTY A= UIH)
TOSCRR, TRIN TRRTG TGN
BT, RWIWIT ?

Problem figure

O o O o) o 5
o o
1) 2) 3) 4)



AR
(Question: 41) (I3, : 41)

41. Find the missing letters inthe given 41 25303 m%gw@ DD DRCATIS
3 %) 3

Matrix. g OneR, 30ReWROND.
1) S, G, N

G C X ? 2) R, Q, X
3) R, 0, N

C Y T N 4)Y,P, G

X T ? |

R 2 ] C

(Question : 42) ([, : 42)

42. Find the missing letters inthe given 4o 24303 @mzsm@ VLD BRCADHT
) %) &3
Pattern. @gcmm& O B0N0.




(Questions : 43 -44)

43.

44,

A person starts from a place A and
moves towards North. He then turns
to South - east direction and moves.
Again he turns towards North and
moves for sometime. He then turns
to his left and moves. After
sometime he turns to South-east
and moves. Finally he moves in the
west direction and rests at G. Which
of the option figures indicates his
complete movement ?

D . E E . F
Fé /
G
1‘/45 G R D
C A A C

A motor cyclist moves from a place
A to B in East direction. From B he
turns to left and moves for 2 km. He
then takes a right down and rides
for 1.5 km. Again he turns right and
moves for 2 km. He then takes a
left turn and rides for 2.5 km. and
stops. If he is distance of 7 km. from
starting place A, find the distance
between A and B.

20

(s

O YOO A
: 43 - 44)

43. ) mmwsm A 00T RRTED erogd

aé’%ﬁ 28ODTeN. FosT efﬁelco& @%ﬁ
STON BODTN. D erogd%& 3N ZO,
BRT OIS, S03T WTH 354 acé%
3TN BOR mﬁ o, BUT FosT
e—sﬁ;coi:@& édm 2BODTN. oI
w@ums& B8O G TY ATWETI.
603%71%'3@2, 0350 SR WRT BOTRLIT
aé@ﬁoi:ﬁad BRWTIT ?

E <
G

44. .2 a”m&scﬁ’és@s TR0 A "emozs

w.raw? @%5@ B 33n aa’eD SR,
B oon acsé édoﬁ 2 km. aﬁ@wagﬁ
8033 wo@é .adm 1.5 km. 2393308,
g wu% &N 2 km. BODTE. SoST
acé% goon 2.5 km. 8O DR/,
N VR IRTY :gp@ A 00w 7 km.
BRTTIYT3 A =3 B NN
TRTTRY, TOWLRORD.



N OO R A
(Questions : 45 —46) (FBR+> : 45 - 46)

Directions : In the questions below the BRWRNA®L : &3 IFR TRLT JJNTY

numbers in the figures are related. Identify =8 3NFQTOE FOBNF FOWOTWIY,
their relationship and find the missing JpoQss. &5 ROWOTIB/Z, TSR B¥ZNTY

numbers in the given figures. L] TREATI 309357‘%&534 FOWIRONO.
- " /)
2
22 \J 2
1) 20
2) 18
3) 16
4) 14
46.
341 3
1) 18, 151
? 5
2) 18,169
85 1 3) 21,171
4) 21,189
43 ?

21



(Questions : 47 — 48)

Directions : The given problem figure has
one or more dots. Observe the dot positions
and identify the option figure which is exactly
suitable to keep the dots with the same
conditions.

47.

©

48.

AR

(3R : 47 - 48)
ARuEnY : BYDT TRETY 20T

SlATD) éaﬁgﬁ zéo%éﬁ@:)ﬁ. 35 z%aéémf m@mm&
N0V, zﬁo@ﬁ@éﬁo@l QB YTe D8O
QUOTIR 2T SR ST/, TOTOSR.

D@

N

N 8@




(Question : 49)

49.

y
2
3

)
)
)
4)

The average body weights of 4 men
A, B, C and D is 50 kg.

Decide whether the data given in the
statements |, Il and lll are sufficient
to find the individual body weights
ofBand D

. The weight of A is 65 kg and of C is

45 kg

. The sum of the weights of B and D

is 90 kg

D has the least weight compared to
A,BandC

Data in | and Il are sufficient
Data in Il and Il are sufficient
Data in I, Il and lll are sufficient

Data in I, Il and Il are not sufficient

(Question : 50)

50.

A set of two figures is given as
problem figure. Find which one of
the option figures is formed, when
the upper figure is superimposed on
the lower one.

(=D

N VRN A
(|3, : 49)

49. A,B,C == D TR, THTIXT BenY
SR3NEH TTeRO 50 kg V3.
L1232 1l Sew3nedd 8ngiohs
Swks0de B 3 D "Ry *’écs
msmss: 202 ROBEN Pcmm:@dc
aomdm QT2

|.Ao$amseskgs:330os>ms
45 kg 2
Il. B 32 D o3 Sw3ne 208 90 kg @

lll. D o 3% A, B =3 C nen

BRCOATN ¥ IR VB.
1) JePIND | 302 1l 39T &0&Snw
TO®
2) Ievdngd I B Il 09T [P
TO®
3) Tewdnsd |, I DB Il YT [P
OB
4) Tewdned |, I B 1BYT eS80
RTMNROY
@% : 50)

50. ¥ T WNY WO zélraéosmo
T aésmﬂ %raégd RN 2O 233:;5:
@dd sems 3T e BoosN °aé38
o350 603%33_3)@ HORBROTDIT aodo
oA,

® D@%o

23



10.

11.

12.

13.

ANSWER KEY & SOLUTIONS

MAT
(4)
—and + (By putting options)
(2)
(By putting signs in options)
3)
10n® +10n(n = 4)
(1)
120 (n=3)
(2)
(By observation)
(3)
(By observation)
1)
(Hints: No faces painted = (n =2)*
= (4-2)°=8
.. Atleast one face painted = 56 (i.e. 64 — 8 = 56))
(4)
14 (By observation)
3)
15 (By observation)
(2)
19 (9 x 2 + 1)
(1)
(This is the only set of ODD numbers)
(2)
154, 63, 14 (others: 2220 _ g 1691 _ 536 15X58 _ 57

7

(1) ASDWFzZ

EOIRLV (E-V, O -L, I —R) (Opposite Letters)
MYJQBN (M —N, Y - B, J— Q) (Opposite Letters)
KTCXGP (K—-P, T -G, C - X) (Opposite Letters)
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

(3)
35 (-23, -21, -19, -17, ~15)

(2)
325(0x1+1=1;1%x2+2=4;4x3+3=15;15x4+4=64,;64x5+5=2325)

(4)

(By observation — Steps)

(3)

(By observation — Rotation)

(1)
(4 x Age of Pramod = 6 x Age of Praveen)

(4)
18:(18-1)%: (18-1)> — (18—1)
14:(4-1)%: (14-1)> - (14-1)

(2)

66x6+4 =400

166x 6+ 4 =1000

1)
SAMOHT:SINNZT
S+1=T O-1=N
A-1=Z H+1=1
M+1=N T-1=S

@) _

(By Observation)

(3) _

(By Observation)

(2)

(diff. +100, +200, +400, +800, +1600)

Grace
Ideally no any option is correct only conclusion 111 follows. But, DSERT Karnataka will
give answer as (1)

(2)
20 (By putting values in Venn diagram)
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217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

(3)
30 (By putting values is Venn diagram)

(4)

8 and 7 (only one possible value of S,i.e S=8 .. P=8R =7)

(2)

136623 (By equation: 2E+L =8
2L+P=5
2A+P=9
P+B=7
A=4)

(1) _

(By observation)

(4) _

(By observation)

(4)

()

Assume three figures as x, y and z

19 X+2y=12 ; 2x+y=9

X+2z2=20 ; y+2z=23
Yy+X+2=16 ; X+y+z=16

(4)

(Row pattern: + 3, -2, +3)

(3) _

(By Observation)

(1)

(By observation & opposite faces rule)

(4)

(All surgeons are doctors. Some professors will be doctors. Some professors will be
engineers. Engineers & doctors are different professionals).

(1)
5 (By drawing Venn diagram and putting the values)

3)
50 (By drawing Venn diagram and putting the values)
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40.

41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

(2)

(By observation)

(3)

R,O,N

G-4=C C-4=Y X-4=T R-4=N

X-6=R T-6=N O0-6=1I I-6=3

(1)

A, M (Quter:D+3=G;G+5=L;L+7=S;S+9=B;B+11=M;M+13=2Z;Z+
15=0).

(Inner: A+14=0;0+12=A;A+10=K;K+8=S;S+6=Y;Y+4=C;

C+2=E).

(4) _

(By observation)

(2) o

(By drawing diagram)

(1)

(sum of even no. — sum of odd no.)
(26 +24) — (17 + 11) =22, (28 + 18) — (21 + 19) = 6)

©)

21,171 (3x2-1=5)(5x2+1=11)
(2)

(Common in all circles)

(4)

(one dot: Only circle & triangle)
(second dot: Only circle & square)

(4)

(1)

(By observation)
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